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Multiplikation - vertikal
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Multiplikation - vertikal Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1) 2) 3) 4)
7.798 3.347 9.751 7.816 . 5458
° 7 ° (®] ° 3 ° 8
54.586 30.123 29.253 62.528 ,  30.123
s 29.253
s 62528
5 6 7 8
) 2.261 ) 3.201 ) 6.011 ) 4.540 s 4522
. 2 ° 9 ° 4 ° 9
4.522 29.619 24.044 40.860 6. 29.619
;. 24.044
8. 40.860
9 10 11 12
) 6.314 ) 3.740 ) 6.102 ) 3.807 . 37.884
. 6 . 2 . 2 . 6
37.884 7.480 12.204 22.842 0. 7.480
u 12.204
1 22.842
13 14 15 16
) 3.913 ) 3.446 ) 4.669 ) 7.046 s 7.826
. 2 . 4 . 5 . 7
7.826 13.784 23.345 49.322 .  13.784
5. 23.345
6. 49.322
17 18 19 20
) 4.102 ) 1.791 ) 9.328 ) 1.832 . 32816
. 8 ° 3 ° 7 . 5
32.816 5.373 65.296 9.160 18, 5.373
10. 65.296
20, 9.160
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